



Some Commutativity Theorems for Prime Near-rings Involving Derivations

Moharram A. Khan^{1*} and Abdu Madugu¹

¹Department of Mathematics and Computer Science, Faculty of Natural and Applied Sciences, Umaru Musa Yaradua University, Katsina, Katsina State, Nigeria.

Authors' contributions

This work was carried out in collaboration between two authors. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/JAMCS/2017/38097

Editor(s):

(1) Radko Mesiar, Professor, Department of Mathematics, Faculty of Civil Engineering, Slovak University of Technology Bratislava, Slovakia.

Reviewers:

(1) Burcu Nişancı Türkmen, Amasya University, Turkey.

(2) Sanjib Kumar Datta, University of Kalyani, India.

Complete Peer review History: <http://www.sciedomains.org/review-history/22595>

Original Research Article

Received: 11th November 2017

Accepted: 27th November 2017

Published: 4th January 2018

Abstract

The study depicts that a prime near-ring N is considered to be a commutative ring if there non-negative integers exist i.e., $p \geq 0, q \geq 0$ in such a way that N admits a non-zero derivation, where d satisfying one of the conditions like $(c_1) - (c_8)$. For any $x, y \in N$, we define the following properties

$$(c_1) \ d([x, y]) - x^p(xoy)x^q = 0 ;$$

$$(c_2) \ d([x, y]) + x^p(xoy)x^q = 0 ;$$

$$(c_3) \ d(xoy) - x^p([x, y])x^q = 0 ;$$

$$(c_4) \ d(xoy) + x^p([x, y])x^q = 0 ;$$

$$(c_5) \ d([x, y]) - y^p(xoy)y^q = 0 ;$$

$$(c_6) \ d([x, y]) + y^p(xoy)y^q = 0 ;$$

$$(c_7) \ d(xoy) - y^p([x, y])y^q = 0 ;$$

$$(c_8) \ d(xoy) + y^p([x, y])y^q = 0.$$

In addition, an example is given to demonstrate the primeness of the hypothesis which is not superfluous. Finally, we can conclude it with some open problems.

Keywords: Commutativity; derivation; near-ring; prime near-ring; zero-symmetric near-ring.

*Corresponding author: E-mail: mkhan91@gmail.com, moharram.alikhan@umyu.edu.ng;

2010 mathematics subject classification: 16U80; 16Y30; 16W25.

1 Introduction

In all that follows a right near-ring N is a non-empty set with two operations $+$ and $\cdot$ such that $(N, +)$ is a group and $(N, \cdot)$ is a semi group satisfying the right distributive law $(y + z) \cdot x = y \cdot x + z \cdot x$ for all $x, y, z \in N$. A right near-ring N is zero symmetric if $x \cdot 0 = 0$ for all $x \in N$, (see Pilz [1] for details), recall that right distributivity yields $0 \cdot x = 0$). Throughout the paper, we will use the word near-ring to mean zero symmetric right near-ring and denote xy instead of $x \cdot y$. According to Bell and Mason [2], a near-ring N is said to be prime if $xNy = \{0\}$ for $x, y \in N$ implies $x = 0$ or $y = 0$. An additive mapping $d: N \rightarrow N$ is said to be a derivation if $d(xy) = xd(y) + d(x)y$ (or equivalently, as noted in Wang [3], that $d(xy) = d(x)y + xd(y)$ for all $x, y \in N$). The symbol $Z(N)$ will represent the multiplicative center of N , that is, $Z(N) = \{x \in N | xy = yx \text{ for all } y \in N\}$. Note that $Z(N)$ is a non-empty set, that is $Z(N) \neq \emptyset$, since $0 \in Z(N)$. For any $x, y \in N$, the symbol $[x, y]$ stands for the commutator $xy - yx$, while the symbol xoy will denote the anti commutator $xy + yx$. There has been a great deal of work concerning commutativity of prime and semi prime rings with derivations satisfying certain differential identities stating that the existence of a suitably constrained on a prime near-ring forces the near-ring to be a commutative ring (see [4-10] for references). Many results asserting that prime near-ring with certain constrained derivations have ring like behavior. Several results in literature demonstrate that "how the structure of a ring is connected with the additive mapping defined on that ring." Many authors [11,12,13] have studied the structure of prime and semi prime rings admitting suitably constrained additive mappings, as automorphisms, derivations, skew-derivations and generalized derivations acting on appropriate subsets of the ring. Motivated by these observations, it is a natural to look for comparable results as near-ring. Our aim in this paper is to extend some results on prime near-ring with non-zero derivation satisfying some differential identities to become a commutative ring, and it is organized as follows. In Section 2, we present our main theorems, Section 3 devotes a counterexample, Section 4 includes conclusion and finally, Section 5 provides some open problems.

2 Main Results

The main results of this paper are as given below.

Theorem 2.1. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $(c_1) \ d(xy - yx) - x^p(xy + yx)x^q = 0$ or $(c_2) \ d(xy - yx) + x^p(xy + yx)x^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Theorem 2.2. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $(c_3) \ d(xy + yx) - x^p(xy - yx)x^q = 0$ or $(c_4) \ d(xy + yx) + x^p(xy - yx)x^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Theorem 2.3. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that $(c_5) \ d(xy - yx) - y^p(xy + yx)y^q = 0$ or $(c_6) \ d(xy - yx) + y^p(xy + yx)y^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Theorem 2.4. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that $(c_7) \ d(xy + yx) - y^p(xy - yx)y^q = 0$ or $(c_8) \ d(xy + yx) + y^p(xy - yx)y^q = 0$ for any $x, y \in N$, then N is a commutative ring.

In order to prove our main results, we begin with the following known and elementary Facts.

Fact 2.5 [14]. Taking a prime near-ring N that admits a non-zero derivation d with $d(N) \subset Z(N)$. then N is a commutative ring.

Fact 2.6. Let N be and a prime near-ring. Then, for any $x, y \in N$:

- (i) $[x, yx] = [x, y]x$; (ii) $x \circ (yx) = (xo y)x$
 (iii) $[xy, y] = [x, y]y$; (iv) $(xy) \circ y = (xo y)y$,

Proof of Theorem 2.1. By the hypotheses (c_1) , we have

$$d([x, y]) = x^p(xy + yx)x^q \quad \forall x, y \in N. \quad (2.1)$$

Taking y by yx in (2.1) and using the Fact 2.6 (i) and (ii), we find that

$$d([x, y]x) = x^p(xy + yx)x^{q+1} \quad \forall x, y \in N. \quad (2.2)$$

In view of a non-zero derivation d , one can write

$$d([x, y]x) = d([x, y])x + [x, y]d(x). \quad (2.3)$$

Combining Equations (2.1) and (2.2) in (2.3), we obtain

$$x^p(xy + yx)x^{q+1} = x^p(xy + yx)x^{q+1} + [x, y]d(x).$$

This implies that

$$[x, y]d(x) = 0.$$

But rest of the proof follows immediately from Theorem 2.2 (i) in [15].

Next, from (c_2) , we have

$$d([x, y]) = -x^p(xy + yx)x^q, \quad x, y \in N. \quad (2.4)$$

Replacing y by yx and using Fact 2.6 (i) and (ii), we have

$$d([x, y]x) = -x^p(xy + yx)x^{q+1}. \quad (2.5)$$

By definition of non-zero derivation d , we have

$$d([x, y]x) = d([x, y])x + [x, y]d(x) \quad (2.6)$$

Use the obtained results of (2.4) and (2.5) in (2.6) to get

$$-x^p(xy - yx)x^{q+1} = -x^p(xy - yx)x^{q+1} + [x, y]d(x).$$

This gives

$$[x, y]d(x) = 0 \quad \text{for all } x, y \in N.$$

Next, the remaining proof of this result is same as the proof of Theorem 2.2(ii) in [15].

The following results are the corollaries of our Theorem 2.1.

Corollary 2.1.1 ([15, Theorem 2.2]). Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $d(xy - yx) - x^p(xy - yx)x^q = 0$ or $d(xy - yx) + x^p(xy - yx)x^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Corollary 2.1.2. Let N be a prime near-ring and there exist nonnegative integers $t \geq 0$. If N admits a non-zero derivation d such that either $d(xy - yx) \pm (xy + yx)x^t = 0$ or $d(xy - yx) \pm x^t(xy + yx) = 0$ for any $x, y \in N$, then N is a commutative ring.

Proof of Theorem 2.2. By hypotheses (c_3) , we have

$$d(xoy) = x^p(xy - yx)x^q, \forall x, y \in N \quad (2.7)$$

Substituting y by yx in (2.7) and using the Fact 2.6 (i) and (ii), we find that

$$d(xoy)x = x^p(xy - yx)x^{q+1} \quad \forall x, y \in N. \quad (2.8)$$

In view of a derivation d , one can write

$$d((xoy)x) = d(xoy)x + (xoy)d(x) \quad (2.9)$$

Putting the results of (2.7) and (2.8) in (2.9), we get

$$x^p(xy - yx)x^{q+1} = x^p(xy - yx)x^{q+1} + (xoy)d(x).$$

This implies that

$$(x \circ y) d(x) = 0 \quad \forall x, y \in N.$$

The rest of the proof follows immediately from proof of Theorem 2.4 (iii) in [15].

By hypotheses (c_4) , we have

$$d(xoy) = -x^p(xy - yx)x^q, \forall x, y \in N. \quad (2.10)$$

Substituting y by yx in (2.10) and using the Fact 2.6 (i) and (ii), we find that

$$d(xoy)x = -x^p(xy - yx)x^{q+1} \quad \forall x, y \in N. \quad (2.11)$$

By definition of derivation d , we have

$$d((xoy)x) = d(xoy)x + (xoy)d(x). \quad (2.12)$$

Combining Equations (2.10) and (2.11) in (2.12), we get

$$-x^p(xy - yx)x^{q+1} = -x^p(xy - yx)x^{q+1} + (xoy)d(x).$$

This implies that

$$(x \circ y) d(x) = 0 \quad \forall x, y \in N.$$

The rest of the proof follows immediately from proof of Theorem 2.4 (iv) in [15].

As a consequence of Theorem 2.2, we get the main result of [15].

Corollary 2.2.1 ([15, Theorem 2.4]). Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $d(xy + yx) - x^p(xy + yx)x^q = 0$ or $d(xy + yx) + x^p(xy + yx)x^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Corollary 2.2.2. Let N be a prime near-ring and there exist nonnegative integers $t \geq 0$. If N admits a non-zero derivation d such that either $d(xy + yx) \pm (xy - yx)x^t = 0$ or $d(xy + yx) \pm x^t(xy - yx) = 0$ for any $x, y \in N$, then N is a commutative ring.

Proof of Theorem 2.3. By hypotheses (c_5) , we have

$$d([x, y]) = y^p(xy + yx)y^q \quad \forall x, y \in N. \quad (2.13)$$

Put x by xy in (2.13) and using the Fact 2.6 (iii) and (iv), we find that

$$d([x, y]y) = y^p(xy + yx)y^{q+1} \quad \forall x, y \in N. \quad (2.14)$$

By definition of d , one can write

$$d([x, y]y) = d([x, y])y + [x, y]d(y). \quad (2.15)$$

Combining Equations (2.13) and (2.14) in (2.15), we get

$$y^p(xy + yx)y^{q+1} = y^p(xy + yx)y^{q+1} + [x, y]d(y).$$

This implies that $[x, y]d(y) = 0$ for all $x, y \in N$

$$xyd(y) = yx d(y) \quad \text{for all } x, y \in N. \quad (2.16)$$

Putting x by wx in (2.16) and using (2.16), we find that

$$[x, y]w d(y) = 0 \quad \forall x, y, w \in N. \quad (2.17)$$

This implies that

$$[x, y]N d(y) = 0 \quad \forall x, y \in N. \quad (2.18)$$

Since N is a prime near-ring, so Equation (2.18) gives

$$\text{for each } y \in N, [x, y] = 0 \text{ or } d(y) = 0. \quad (2.19)$$

Clearly, if $[x, y] = 0, y \in Z(N)$. Consequently, if $y \in Z(N)$ then $d(y) \in Z(N)$. Thus, Equation (2.19) yields that for all $y \in N, d(y) \in Z(N)$, implies $d(N) \subset Z(N)$. In view of Fact 2.5, it gives that N is a commutative ring.

Now by the property (c_6) , we have

$$d([x, y]) = -y^p(xy + yx)y^q \quad \text{for any } x, y \in N. \quad (2.20)$$

Setting x by xy in (2.20) and using the Fact 2.6 (iii) and (iv), we find that

$$d([x, y]y) = -y^p(xy + yx)y^{q+1} \quad \text{for all } x, y \in N. \quad (2.21)$$

By definition of derivation, we have

$$d([x, y]y) = d([x, y])y + [x, y]d(y). \quad (2.22)$$

Using Equation (2.20) and (2.21) in (2.22), we get

$$-y^p(xy - yx)y^{q+1} = -y^p(xy - yx)y^{q+1} + [x, y]d(y). \quad (2.23)$$

This implies that

$$[x, y]d(y) = 0 \quad \text{for all } x, y \in N. \quad (2.24)$$

The remaining proof is the same as above condition (c_5) .

The following results are the immediate corollaries of Theorem 2.3.

Corollary 2.3.1. [15, Theorem 2.2] Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $d(xy - yx) - y^p(xy - yx)y^q = 0$ or $d(xy - yx) + y^p(xy - yx)y^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Corollary 2.3.2. Let N be a prime near-ring and there exist nonnegative integers $t \geq 0$. If N admits a non-zero derivation d such that either $d(xy - yx) \pm (xy - yx)y^t = 0$ or $d(xy - yx) \pm y^t(xy - yx) = 0$ for any $x, y \in N$, then N is a commutative ring.

Proof of Theorem 2.4. By hypotheses (c_7) , we have

$$d(xoy) = y^p(xy - yx)y^q \quad \forall x, y \in N. \quad (2.25)$$

Substituting x by xy in (2.25) and using the Fact 2.6 (i) and (ii), we find that

$$d(xoy)y = y^p(xy - yx)y^{q+1} \quad \forall x, y \in N. \quad (2.26)$$

By definition of derivation d , we have

$$d((xoy)y) = d(xoy)y + (xoy)d(y). \quad (2.27)$$

Substituting (2.25) and (2.26) in (2.27), we get

$$y^p(xy - yx)y^{q+1} = y^p(xy - yx)y^{q+1} + (xoy)d(y).$$

This implies that

$$\begin{aligned} (xoy)d(y) &= 0 \quad \forall x, y \in N \\ yxd(y) &= -xyd(y) \quad \forall x, y \in N. \end{aligned} \quad (2.28)$$

Replace x by tx in equation (2.28) and use (2.28) to obtain

$$ytxd(y) = -txyd(y) = (-t)(-yxd(y)) = (-t)(-y)xd(y) \quad \forall x, y, t \in N.$$

$$\text{or} \quad (yt - (-t)(-y))xd(y) = 0 \quad \forall x, y, t \in N.$$

Taking y by $-y$, then $(-yt + ty)xd(-y) = 0 \quad \forall x, y, t \in N$.

$$-[t, y]xd(-y) = 0 \quad \forall x, y, t \in N.$$

This implies that

$$[t, y]xd(-y) = 0 \quad \forall x, y, t \in N. \quad (2.29)$$

Since N is prime near-ring, we have for each $y \in N$,

$$d(y) = 0 \text{ or } y \in Z(N). \quad (2.30)$$

We know that if $y \in Z(N)$, then $d(y) \in Z(N)$. Hence (2.30) forces that for all

$$y \in N, d(y) \in Z(N), \text{ that is, } d(N) \subset Z(N).$$

In view of the Fact 2.5, N is a commutative ring.

Next, we assume that the condition (c_8)

$$d(xoy) = -y^p(xy - yx)y^q \text{ for any } x, y \in N. \quad (2.31)$$

Putting x by xy in (2.31) and using the Fact 2.6 (iii) and (iv), we obtain

$$d((xoy)y) = -y^p(xy - yx)y^{q+1} \text{ for all } x, y \in N. \quad (2.32)$$

By definition of derivation d , we have

$$d((xoy)y) = d(xoy)y + (xoy)d(y). \quad (2.33)$$

Use (2.31) and (2.32) in (2.33) to get

$$-y^p(xy - yx)y^{q+1} = -y^p(xy - yx)y^{q+1} + (xoy)d(y). \quad (2.34)$$

This implies that $(xoy)d(y) = 0$ for all $x, y \in N$.

$$yx d(y) = -xy d(y) \quad \forall x, y \in N. \quad (2.35)$$

But (2.35) is the same as (2.28), arguing as in the above proof of Theorem 2.4 we reached that N is a commutative ring.

The following results are immediate corollaries of Theorem 2.4.

Corollary 2.4.1. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero derivation d such that either $d(xy + yx) - y^p(xy + yx)y^q = 0$ or $d(xy + yx) + y^p(xy + yx)y^q = 0$ for any $x, y \in N$, then N is a commutative ring.

Corollary 2.4.2. Let N be a prime near-ring and there exist nonnegative integers $t \geq 0$. If N admits a non-zero derivation d such that either $d(xy + yx) \pm (xy - yx)y^t = 0$ or $d(xy + yx) \pm y^t(xy - yx) = 0$ for any $x, y \in N$, then N is a commutative ring.

3 Counterexample

The following example shows that the primeness hypothesis in Theorems 2.1, 2.2, 2.3 and 2.4 are necessary even in the case of arbitrary rings.

Example 3.1. Let R be a non-commutative ring and $N = \left\{ \begin{pmatrix} 0 & 0 & \alpha \\ 0 & 0 & \beta \\ 0 & 0 & \gamma \end{pmatrix} \mid \alpha, \beta, \gamma \in R \right\}$. Define a map

$d: N \rightarrow N$ by $d \begin{pmatrix} 0 & 0 & \alpha \\ 0 & 0 & \beta \\ 0 & 0 & \gamma \end{pmatrix} = \begin{pmatrix} 0 & 0 & \alpha \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$, one can easily check that; d is a non-zero derivation on N .

Let $B = \begin{pmatrix} 0 & 0 & \alpha \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}, \alpha \neq 0$. Then $BNB = \{0\}$, which shows that N is not prime. In addition if d satisfies either $d([A, B]) = AoB$ or $d(AoB) = [A, B]$ for all $A, B \in N$, and N is a non-commutative ring. Also, an alternate example can be found in [15].

4 Conclusion

In this paper we study some conditions to prove the commutativity of prime near-rings involving derivations. We conclude the paper by discussing some issues for future research work. The conditions $(c_1) - (c_8)$ are assumed to be held for all x, y in N . Are Theorems 2.1-2.4 still true via generalized derivations or if these conditions hold for only x, y in $S \subseteq N$, where S is a suitable non-zero ideal of N ? Finally, we present some open problems.

5 Open Problems

One can look more general constraints on the derivation would be interesting.

- 5.1. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero generalized derivations d such that $d(xy - yx) \pm x^p(xy + yx)x^q = 0$ or $d(xy - yx) \pm y^p(xy - yx)y^q = 0$, for all $x, y \in N$, then N is a commutative ring.
- 5.2. Let N be a prime near-ring. If N admits a non-zero skew-derivation (skew-generalized) d such that either, any $x, y \in N$, $d(xy - yx) \pm x^p(xy + yx)x^q = 0$ or $d(xy - yx) \pm y^p(xy + yx)y^q = 0$, $p \geq 0, q \geq 0$ are integers, then N is a commutative ring.
- 5.3. Let N be a prime near-ring and there exist nonnegative integers $p \geq 0, q \geq 0$. If N admits a non-zero multiplicative derivation (multiplicative generalized) d such that $d(xy - yx) \pm x^p(xy + yx)x^q \in Z(N)$ or $d(xy - yx) \pm y^p(xy - yx)y^q \in Z(N)$ for any $x, y \in N$, then N is a commutative ring.

One can see the constraints such as commutativity of torsion free near-rings. The properties $(c_1) - (c_8)$ are assumed to be held for all $x, y \in N$. Do Theorems (2.1), 2.2, (2.3) or (2.4) true if these conditions held for only $x, y \in S \subseteq N$, where S is a non-zero ideal (semi group ideal) of prime near- ring?

Acknowledgements

The authors are grateful to Research Grant (UMYU/UBR/BC/003) for providing the financial assistance of this work. The grant number is Tetfund (TETUND/ESS.D/10./LR/PROFILE/RES), Umaru Musa

Yarádua University, Katsina- Nigeria. Authors thank the referees for their constructive comments and suggestions.

Competing Interests

Authors have declared that no competing interests exist.

References

- [1] Pilz G. Near-rings 2nd Edition. North Holland, Amsterdam; 1983.
- [2] Bell HE, Mason G. On derivations in near-rings. In near –rings and near fields, ser. North Holland Math Stud. 1987;137:31-35.
- [3] Wang XK. Derivations in prime near-rings. Proc. Amer. Math. Soc. 1994;121:361-366.
- [4] Beidar KI, Fong Y, Wang XK. Posner and Herstein theorems for derivations of 3-prime near-rings. Comm. Algebra. 1996;24:1581-1589.
- [5] Bell HE, Argac N. Derivations, product of derivations, and commutativity in near-rings. Algebra Colloq. 2001;8:399-407.
- [6] Boua A, Oukhtite L. Derivations on prime near-rings. Int. J. Open Problems Compt. Math. 2011;4: 162-167.
- [7] Boua A, Bell HE, Oukhtite L. On derivations of prime near-rings. Afr. Diaspora J. Math. 2012;14:65 -72.
- [8] Boua A, Kamal AAM. Structure of near-rings satisfying certain polynomial identities. Int. J. Pure Appl. Math. 2014;95:597–610.
- [9] Kamal AAM, Al-saalan KH. Existence of derivations on near-rings. Math Slovaca. 2013;63:431- 448.
- [10] Kamal AAM, Al-Shaalan KH. Commutativity of near-rings with derivations by using algebraic substructures. Indian J. Pure Appl. Math. 2012;43:211-225.
- [11] Bell HE, Boua A, Oukhtite L. Semigroup ideals and commutativity in 3-prime near Rings. Comm. Algebra. 2015;43:1757–1770.
- [12] Boua A, Oukhtite L. On skew derivations in 3-prime near-rings. Gulf J. Math. 2016;4:28-32.
- [13] Daif MN, Bell HE. Remarks on derivations on semi prime rings. Int. J. Math. Math. Sci. 1992;15: 205-206.
- [14] Bell HE. On derivations in near-rings II. Kluwer Academic Publishers Netherlands. 1997;191-197.
- [15] Yilun Shang. A study of derivations in prime near-rings. Mathematica Balkanica. 2011;25:413-418.

© 2017 Khan and Madugu; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://sciencedomain.org/review-history/22595>